1) Exome represents:

a- about 2% of the human genome

b- about 50% of the human genome

c- about 12% of the human genome

d- about 21% of the human genome

2) In order to discover new disease genes, in the overlap based strategy:

a- the exome sequencing have to be performed in at least 100 patients 

b- also the parents have to be analysed by exome sequencing

c- exome sequencing can be performed on few index cases, homogeneous from a clinical point of view

d- exome sequencing has to be repeated in two independent cohorts of patients

3) Exome sequencing has proved powerful:

a- in discovering modifier genes of Mendelian traits
b- in unravelling the genetic cause of sporadic patients with unexplained intellectual disability
c- in unravelling the genetic cause of siblings affected by unexplained intellectual disability
d- all answers are true

